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 Notes : 1. All the five questions are compulsory. 

 2. All questions carry equal marks. 

 3. Draw diagrams wherever necessary. 

 4. Give correct question number to the answer. 

 

    

1.  Answer the following question in 400-500 words. 

State the reasons of population growth in India and suggest the remedies to control it. 

OR 

Explain the theory of Demographic Transition. 

 

16 

2.  Answer the following questions in 400-500 words. 

What is agriculture marketing? Explain the defects Indian agriculture marketing. 

OR 

Explain the causes of the low productivity of Indian agriculture. Suggest measures to 

increase Indian agriculture productivity. 

 

16 

3.  Answer the following questions in 150-200 words each any two. 

a) Explain the different of developed and developing economy. 

b) Explain comparison of population and per capita income with reference to India and 

 developed countries. 

c) State the causes of under development. 

d) Explain the basic characteristic of Indian economy. 

 

16 

4.  Answer the following questions in 150-200 words each any two. 

a) Write the causes of economic inequality in India. 

b) State the causes of unemployment in India. 

c) Write the causes of poverty in India. 

d) Explain the types of unemployment in India. 

 

16 

5.  Write a short note all compulsory. 

a) Developed economy. 

b) Density of population. 

c) Family planning. 

d) Per capita income. 

e) Poverty. 

f) Unemployment. 

g) Agriculture marketing. 

h) Agriculture productivity. 

 

16 

  *************  
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 सुचना :- 1. सर्व पाच प्रश्न सोडवर्णे आर्श्यक आहे. 
 2. सर्व प्रशनाांना समान गुण आहेत. 
 3. आर्शयक ततथे आकृत्या काढा. 
 4. उत्तरास अचूक प्रशन क्रमाांक द्या. 

 

    

1.  खालील प्रश्नाांची उत्तरे 400 ते 500 शब्दात ललहा. 
भारतातील लोकसांख्या र्ाढीची कारणे साांगून ती ननयांत्रित करण्यासाठी उपाय सुचर्ा. 

क िं वा 
लोकसांख्या सांक्रमणाचा लसधदाांत स्पष्ट करा. 
 

16 

2.  खालील प्रशनाांची उत्तरे 400 ते 500 शब्दात ललहा. 
कृषी वर्पणन म्हणजे काय? भारतातील कृषी वर्पणनाच ेदोष वर्शद करा. 

क िं वा 
भारतीय शेतीची उत्पादकता कमी असण्याचे कारण े स्पष्ट करा. भारतीय शतेीची उत्पादकता 
र्ाढवर्ण्यासाठी उपाय सुचर्ा. 
 

16 

3.  खालील प्रशनाांची उत्तरे 150 ते 200 शब्दात ललहा  ोणतेही दोन. 
अ) वर्कलसत अथवव्यर्स्था आणण वर्कसनशील अथवव्यर्स्था यातील फरक साांगा. 
ब) लोकसांख्या र् दरडोई उत्पन्न यासांदभावत भारताची तुलना वर्कलसत देशाबरोबर करा. 
क) अर्ववर्कलसतपणाची कारणे साांगा. 
ड) भारतीय अथवव्यर्स्थचेी मूलभूत र्ैलशष््ये स्पष्ट करा. 
 

16 

4.  खालील प्रशनाांची उत्तरे 150 ते 200 शब्दात ललहा  ोणतेही दोन. 
अ) भारतातील आर्थवक असमानतेची कारणे ललहा. 
ब) भारतातील बेकारीची कारण ेसाांगा. 
क) भारतातील दाररद्रयाची कारणे ललहा. 
ड) भारतातील बेकारीचे प्रकार स्पष्ट करा. 
 

16 

5.  सांक्षिप्त टटपा ललहा सवव आर्शयक. 
अ) वर्कलसत अथवव्यर्स्था. ब) लोकसांख्येची घनता. 
क) कुटुांब तनयोजन. ड) दरडोई उत्पन्न. 
इ) दाररद्रय. फ) बेरोजगारी. 
ग) कृषी वर्पणन. ह) शेतीची उत्पादकता. 

16 

  ***************  
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 सुचनाएँ :- 1. सभी प्रशन अतनर्ायव है। 
 2. सभी प्रशनों के अांक समान है। 
 3. उर्चत स्थानोपर रेखार्चत्र दीजजए। 
 4. उत्तर को सही प्रशन क्रमाांक ललणखए। 

 

    

1.  नीचे ददए गए प्रश्नों के उत्तर 400-500 शब्दों में ललखखए। 
भारत में जनसांख्या र्धृ्धद के कारण बताइए। और लोकसांख्या ननयांिण के उपाय सुझाइए। 

अथवा 
जनसांख्या सांक्रमण का लसधदाांत स्पष्ट कीध्जए। 
 

16 

2.  नीचे टदए प्रशनों के उत्तर 400-500 शब्दों में ललणखए। 
कृवष वर्पणन क्या है? भारतीय कृवष वर्पणन के दोष स्पष्ट कीजजए। 

अथवा 
भारत में कृवष की तनम्न उत्पादकता के कारण स्पष्ट कीजजए। भारत में कृवष उत्पादकता बढाने के 
उपाय सुझाइए। 
 

16 

3.  नीचे टदए प्रशनों के उत्तर 150-200 शब्दों में ललणखए।  ोई भी दो। 
अ) वर्कलसत एर्ां वर्कसनशील अथवव्यर्स्था का फरक बतलाइए। 
ब) जनसांख्या एर्ां प्रतत व्यजक्त आय के सांदभव में भारत की वर्कलसत देशों के साथ तुलना कीजजए। 
क) अर्ववर्कलसत के कारण बताइए। 
ड) भारतीय अथवव्यर्स्था की मूलभूत वर्शेषताएां स्पष्ट कीजजए। 
 

16 

4.  नीचे टदए प्रशनों के उत्तर 150-200 शब्दों में ललणखए।  ोई भी दो। 
अ) भारत में आर्थवक असमानता के कारण ललणखए। 
ब) भारत में बेरोजगारी के कारण बतलाइए। 
क) भारत में तनर्वनता के कारण ललणखए। 
ड) भारत में बेकारी के प्रकार स्पष्ट कीजजए। 
 

16 

5.  सांक्षिप्त में टटप्पणी ललणखए सभी अतनर्ायव। 
अ) वर्कलसत अथवव्यर्स्था। ब) जनसांख्या की घनता। 
क) पररर्ार तनयोजन। ड) प्रतत व्यजक्त आय। 
इ) तनर्वनता। फ) बेरोजगारी। 
ग) कृवष वर्पणन। ह) कृवष की उत्पादकता। 

16 

  ***************  
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